CLASS: VI
MONTH: SEPTEMBER

CBT QUESTION PAPER
ENGLISH

Q1. Look at the picture and choose the word which does not match its

description.

—_—

a) Police
b) Constable
c) Inspector

d) Spy
Answer: d) spy

Explanation: A spy is a person who is employed by a government to secretly obtain
information. They have to hide their real identity and mask their appearance. Hence,
they don’t usually wear any uniform on duty.

Q2. To match the words with their meanings, choose the correct option.

rescue
perhaps
at least
chatter

A) may be

B) talk for a long time about unimportant things
C) to save someone

D) at the minimum

a) i-C, ii- A, iii- D, iv- B
b) i-A, ii- C, iii- D, iv- B
¢) i-B, ii- A, iii- D, iv- C
d) i-D, ii- A, iii- C, iv- B

Answer: a) i-C, ii- A, iii- D, iv- B




Explanation: The word rescue means to save someone, perhaps means there’s a
slight possibility for a thing to happen, at least means not less than, and probably more
and chatter means to talk continuously on unimportant things.

Q3. “The plan worked! We’re saved.” This sentence expresses a feeling of

a) tiredness
b) wonder
c) relief

d) pride

Answer: c) relief

Explanation: The wife and husband felt relaxed after their plan worked as the
robber was caught.

Q4. According to the story ‘Rama to the Rescue’, which of the following options is
correct.

1) The characters in the story are husband, wife, kotwal, robber

ii) The robber was waiting for the husband and wife to go to the park.
iii)  The robber was waiting for the husband and wife to fall asleep.

iv) Rama was the kotwal’s name.

a) Option i, ii, iii, iv are true
b) Option i, iii & iv are true but ii is false
¢) Option i, iii & iv are false
d) Option i, iii & iv are true but iv is false

Answer: b) Option i, iii & iv are true but ii is false

Explanation: The robber was waiting for the husband and wife to fall asleep so that he
could rob easily.

Q5. The contracted form of do not is

a) do’nt
b) doesn’t
¢) don’t
d) dont’

Answer: c¢) don’t

Explanation: Don't is the contracted form of do not as it is formed by combining the
words do & not. The letter o in not is replaced by an apostrophe (*)

Q6. Complete with one word.

Gajraj : Buntee :: : farmer



a) mahout
b) dog
c) king
d) elephant

Answer: a) mahout

Explanation: 1)Gajraj is taken care of by the mahout & Buntee is taken care of by the
farmer.

2) Just like Gajraj and Buntee are friends, the mahout and the farmer are also friends.

Q7. When Gajraj splashed water, the dog yelped because

a) he loved taking showers

b) he hated taking showers

c) he has already taken a shower
d) he felt cold

Answer: b) he hated taking showers
Explanation: The dog cried because he hated taking showers

Q8. “Let me use my heart to see,
To realize what my friends can be,
And make no judgements from afar,
But love my friends the way they are.”

The speaker says that feelings are important to understand friendship.
Which line tells us this?

a) Let me use my heart to see

b) To realize what my friends can be

¢) And make no judgements from afar

d) Butlove my friends the way they are

Answer: a) Let me use my heart to see
Explanation: We need to use our hearts to feel and understand our friends and our
bond with them.

Q9. The poet says, “With special friends I feel I'm blessed”.
Choose the word that is similar to the meaning of ‘being blessed’ with
reference to the poem

a) thankful

b) relaxed

¢) understood

d) excited

Answer: a) thankful



Explanation: The child feels thankful to God for her friends

Q10. Good friends don’t have the following quality.
a) Caring
b) Jealousy
c) Honesty
d) Loyalty

Answer: b) jealousy
Explanation: Good friends feel happy when their friends are instead of being jealous
or feeling bad about a certain thing.

CBT QUESTION PAPER
CLASS: VI MATHS
MONTH: SEPTEMBER

1. You have a square grid of 12 and your friend has a square grid of 7
how many more square do you have than your friend.
(a) 80 (b) 85 (c) 90 (d) 95
Ans- (d)
Feedback — Difference between 12°= 144 and 7> = 49 is (144 — 49 =95).
1. 1,2,4,8,16,32, 64, ........ what is the next number of this sequences

(@) 128 (b) 126  (c) 132 (d) 130

Ans- (a)
Feedback — The next numberis 64 X2 = 128.

3.1,8,27,64,125, 216.......... This sequences is called
(a) Even numbers (b) Cubes (c) Squares (d) Odd numbers

Ans- (b)
Feedback —This sequences is called Cubes 2°=8,3%=27,4°=64........



4. What is the next hexagonal numbers 1,7,19 ?
(a) 26 (b) 30 (c) 37 (d) 40

Ans- (c)
Feedback - The next number is 37.

5. What happens when we start adding up odd numbers, the next number is?
1 =1

1+3=4

1+3+5=9

1+3+5+7=16

(@) 20 (b) 18 (c) 24 (d) 25

Ans- (d)
Feedback —The next number is 1+3+5+7+9 = 25.

6. Square of any even number is always a

(a) Even (b) Odd (c)Some time even, some time Odd (d)
ZeroAns- (a)

Feedback - Square of even number is always a even number.

7. What is the next Triangular number 1, 3, 6, 10, 15, 21...................
(a) 26 (b) 28 (c) 30 (d) 32

Ans- (b)

Feedback —The next Triangular numberis 21 +7 =28.

8. This sequencesiscalled 1,1, 2, 3,5, 8, 13.......
(a) Virahanka numbers (b)  Triangular number

(c) hexagonal numbers(d) Even numbers



Ans- (a)Virahanka numbers
Feedback - The next Virahanka number is 8+13=21.

9. What is the cube of 6 ?
(@) 36(b) 216 (c¢) 12 (d) 9
Ans- (b)

Feedback —Cube of 6° = 6x6x6 = 216.

10. Rani have two pen , Rani give both pen for her younger brother ,then remaing
number of pen rani get.

(a) 2 (b) 1 (c) 0 (d 3
Ans- (c)

Feedback — Correct answer is 2-2 =0

CBT QUESTION PAPER
CLASS: VI SCIENCE
MONTH: SEPTEMBER

Q1.0bserve the feet of the duck and select the correct option=

A. The feet of the duck helps it to walk on the sand.
B. Its feet are helpful in swimming smoothly.

C. It helps in hopping.

D. They help in running fast.

Ans.D



Feedback- Webbed feet help in swimming in water.

Q2.0bserve the direction of veins in the leaves-

Plant A plant B

Choose the correct option-

A.Plant A is a grass.

B. Plant B is a rose plant.

C.Plant A has fibrous roots.

D.Plant B has fibrous roots.

Ans-D

Feedback-Plants with Parallel venation have fibrous roots
Q3.Which of the following group has an odd member=

A. Mango, Neem, Jamun, Banyan

B. Tulsi .wheat ,rice, grass.

C. Tomato, chilli, marigold, sunflower.

D.Money plant, cucumber, Bitter gourd, Pumpkin

Ans-D

Feedback-Pumpkin is a creeper but other plants of the group are climbers.

Q4. Identify the following group of organisms-



A. Ambhibians

B. Birds

C. Aquatic animals
D.Terrestrial animals
Ans. A

Feedback —Amphibians can live on land as well in water.

Q 5 which of the characters are NOT present in a camel

A. Long feet

B. A hump

C. Fur over the body
D. Long eye lashes
Ans. C

Feedback- camel is a desert animal and fur is present on the body of animals living in snow.

Q6. Choose the current option



A

.A bear can take the food from
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A Table A only
B. Table B only

C.Both table Aand B
Ans C

Feedback —A bear is an omnivore so it can eat both plants as well as animal products.

Q7. Gaurav got a fracture in his wrist bone. Doctor put the plaster on the featured bone and gave him a
vitamin tablet to eat. Which vitamin tablet he might have given?

A. VitA

B. VitB

C. VitC

D. VitD
Ans .D

Feedback - Vit D helps in the development of healthy bones
Q8 . Seema has taken bread butter and sweet milk in her breakfast.

Which of the nutrients are present in her diet?

A. Carbohydrate
B. Fats

C. Proteins

D. All ol the above

Ans D
Feedback- Milk and bread contain starch, fats and protein.



Q9. Teacher demonstrated an experiment in the class in which she put a few drops of a solution in a test
tube containing rice flour. The colour of the solution changes from white to black. What might be the
solution used?

A. Litmus solution
B. Vinegar

C. lodine solution
D. Lemon juice
Ans C

Feedback- Rice contains starch which gives positive test with iodine solution.

Millets vs Oats

Q10.See the food items in the picture and answer- these food items provide what nutrients?

oOo0ow

Carbohydrates and fats

Protein and dietary fibres

Fats and proteins

Proteins and sugar

ANS_ B

Feedback-Oats and millets are rich source of dietary fibres.






